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NCERT - NCERT MATHEMATICS(TAMIL ENGLISH)

ALGEBRA

1. Find the degree of each term for the following polynomial and also fi

nd the degree of the polynomial 6ab® + 5a%b*c? — 7ab + 4b%*c + 2

o View Text Solution

2.If p(z) = 42® — 3z + 22> + 5 and g(z) = 2* + 2 + 4, then find

p(z) + q(=)

| o \ltavar Tawrk Caliibkiam



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sQtC3LbRizN1
https://dl.doubtnut.com/l/_Jblt3YBDAUrf
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3.1f p(z) = 42® — 3z + 22> + 5 and g(z) = z* + 2z + 4, then find

p(z) — q(=)

° View Text Solution

4.Find the product (4 — 5) and (2a32 + 3z — 6)

o View Text Solution

5. If f(z)=2>—4x+3, then find the values of

f(1), f( = 1), f(2), f(3).Also find the zeros of the polynomial f(x).

o View Text Solution



https://dl.doubtnut.com/l/_Jblt3YBDAUrf
https://dl.doubtnut.com/l/_moP3uxjcDuZF
https://dl.doubtnut.com/l/_BvJJPgFF2u4k
https://dl.doubtnut.com/l/_uzehH2DXzK8F

6. Find the roots of the following polynomial equations

5t —3 =10

o View Text Solution

7.Find the roots of the following polynomial equations

—7—4x =0

o View Text Solution

8. Find the value of m, if (x —2) is a factor of the polynomial

2x% — 62> + mx + 4.

o View Text Solution

9. Expand the following using identities:

(3z + 4y)*


https://dl.doubtnut.com/l/_Se0dGTejH2im
https://dl.doubtnut.com/l/_SsQlNlEHC0te
https://dl.doubtnut.com/l/_o5d9oc4fR7Fs
https://dl.doubtnut.com/l/_cg0PqcvNiubL

° View Text Solution

10. Expand the following using identities:

(2a — 3b)°

° View Text Solution

11. Expand the following using identities:

(5z + 4y) (bz — 4y)

o View Text Solution

12. Expand the following using identities:

(m +5)(m — 8)

o View Text Solution



https://dl.doubtnut.com/l/_cg0PqcvNiubL
https://dl.doubtnut.com/l/_XE4jD4jqVE1x
https://dl.doubtnut.com/l/_PiVMDWKr7HwE
https://dl.doubtnut.com/l/_Ktch3CJy5Zga
https://dl.doubtnut.com/l/_tY0rqJ0NGeVJ

13.Expand (a — b + ¢)?

° View Text Solution

14. Expand (2z + 3y + 42)°

o View Text Solution

15. Find the area of square whose side length is 3m + 2n — 41

o View Text Solution

16. Expand the following:

(x +5)(z +6)(x+4)

o View Text Solution



https://dl.doubtnut.com/l/_tY0rqJ0NGeVJ
https://dl.doubtnut.com/l/_kpqzWZNwjDzq
https://dl.doubtnut.com/l/_oKbuqMXR1yzz
https://dl.doubtnut.com/l/_sZ3q2ZQxib8S

17. Expand the following:

(3z — 1)(3z + 2)(3z — 4)

o View Text Solution

18.Expand (5a — 3b)°

o View Text Solution

19. Find the product of

(2z + 3y + 4z2) (4:132 + 9y? + 162% — 6zy — 12yz — 82:13)

o View Text Solution

20. Evaluate 10° — 15° + 53

° View Text Solution



https://dl.doubtnut.com/l/_uAsvrXFFgsQk
https://dl.doubtnut.com/l/_Szx88QVFkhzr
https://dl.doubtnut.com/l/_QtV23ABngkXz
https://dl.doubtnut.com/l/_ywz48ZITig8X

21. Factorise the following:

am+bm+cm

o View Text Solution

22. Factorise the following:

a® — ab

o View Text Solution

23. Factorise the following:

5a — 10b — 4bc + 2ac

o View Text Solution



https://dl.doubtnut.com/l/_ywz48ZITig8X
https://dl.doubtnut.com/l/_hEGCr1g4B1LU
https://dl.doubtnut.com/l/_ki3T0qWogVPn
https://dl.doubtnut.com/l/_Km3pEwZsKzCR

24. Factorise the following:

x+y—1—=2ay

° View Text Solution

25. Factorise the following:

92> + 12zy + 4y

o View Text Solution

26. Factorise the following:

25a% — 10a + 1

o View Text Solution

27. Factorise the following:

336m2 — 49n>


https://dl.doubtnut.com/l/_cKLJcEHrMpsD
https://dl.doubtnut.com/l/_9e0G8wT5QKk7
https://dl.doubtnut.com/l/_NHFVRLPjOEzT
https://dl.doubtnut.com/l/_RH5Fl0PvT9dG

o View Text Solution

28. Factorise the following:

2133—:B

o View Text Solution

29. Factorise the following:

z* — 16

o View Text Solution

30. Factorise the following:

z? + 4y + 92% — dey + 12yz — 622

o View Text Solution



https://dl.doubtnut.com/l/_RH5Fl0PvT9dG
https://dl.doubtnut.com/l/_6zOk7UQ4gXks
https://dl.doubtnut.com/l/_ikJZVCxfg5Hb
https://dl.doubtnut.com/l/_F6Neyr2PRy4K
https://dl.doubtnut.com/l/_JcjpOVSf9jrs

31. Factorise the following

27z + 1259°

o View Text Solution

32. Factorise the following

216m> — 343n°

° View Text Solution

33. Factorise the following

2zt — 162y°

° View Text Solution

34. Factorise the following

8z® + 27y% + 6423 — T2xyz

[


https://dl.doubtnut.com/l/_JcjpOVSf9jrs
https://dl.doubtnut.com/l/_MHgH709qtQKm
https://dl.doubtnut.com/l/_IPUyyVAAyggJ
https://dl.doubtnut.com/l/_sg5SjZafUV7R

| J View Text Solution

35. Factorise 222 + 15x + 27

o View Text Solution

36. Factorise 222 — 15z + 27

o View Text Solution

37. Factorise 2z% + 15z — 27

o View Text Solution

38. Factorise 222 — 152 — 27

o View Text Solution



https://dl.doubtnut.com/l/_sg5SjZafUV7R
https://dl.doubtnut.com/l/_M3cctc47Sw6W
https://dl.doubtnut.com/l/_snALETb3lsNx
https://dl.doubtnut.com/l/_ZQuxy9PqALkD
https://dl.doubtnut.com/l/_R2XOWo68JmMk

39. Factorise (2 + y) + 9(z + y) + 20

o View Text Solution

40. Divide z° — 422 + 6z by x, where, z # 0

° View Text Solution

41. Find quotient and the remainder when f(x) is divided by g(x)

f(z) = (82° — 62° + 15z — 7), g(z) = 2z + 1

° View Text Solution

42.Find quotient and the remainder when f(x) is divided by g(x)

flz) =2 —32% + 522 — 7, g(z) =2 +z + 1

o View Text Solution



https://dl.doubtnut.com/l/_AS2HERrlKT5h
https://dl.doubtnut.com/l/_7lMPiqeyYeAb
https://dl.doubtnut.com/l/_pLJm4iRlWEJS
https://dl.doubtnut.com/l/_qcJV2u6vhHl5

43. Find the quotient and remainder when
p(z) = (3z® — 22> — 5+ 7z) is divided by d(z) =z +3 using

synthetic division

o View Text Solution

44.Find the quotient and remainder when (3:(:3 — 42® — 5) is divided

by (3z + 1) using synthetic division

° View Text Solution

45. If the quotient on dividing z* 4 10z + 35z% + 50z + 29 by
(z +4) is > — ax® 4 bz + 6, then find the value of a, b and also

remainder.

o View Text Solution



https://dl.doubtnut.com/l/_qcJV2u6vhHl5
https://dl.doubtnut.com/l/_dYlGHaqT6xzp
https://dl.doubtnut.com/l/_uENj1piQJDNL
https://dl.doubtnut.com/l/_Akbsl8IaylJA
https://dl.doubtnut.com/l/_t26pqv4CkdTk

46. Factorise z° + 13z2 + 32z -+ 20 into linear factors

o View Text Solution

47.Factorise z° — 5z — 2z + 24

° View Text Solution

48.Find GCD of the following:

1623y, 24zy32

o View Text Solution

49. Find GCD of the following:

(y* +1) and (y* — 1)

° View Text Solution



https://dl.doubtnut.com/l/_t26pqv4CkdTk
https://dl.doubtnut.com/l/_TccnF0iEPedX
https://dl.doubtnut.com/l/_KtP4zv9PFLyG
https://dl.doubtnut.com/l/_aPxTuBTp7kq8

50. Find GCD of the following:

222 — 18 and 22 — 2z — 3

o View Text Solution

51. Find GCD of the following:

(a - b)27 (b o 6)37 (C - a)4

o View Text Solution

52. Check whether (5, —1) is a solution of the simultaneous

equationsx — 2y =7 and 2z + 3y = 7.

o View Text Solution

53. Use graphical method to solve the following system of equations:

T+y=252zx—y=4


https://dl.doubtnut.com/l/_VokY3rT2G90S
https://dl.doubtnut.com/l/_d3AP2XViV8JM
https://dl.doubtnut.com/l/_RIYS0hiptxDu
https://dl.doubtnut.com/l/_6qOTzyzeSMEs

o View Text Solution

54.Th e sum of the digits of a given two digit number is 5. If the digits

are reversed, the new number is reduced by 27. Find the given number.

o View Text Solution

55. Given 4a + 3b =65 and a + 2b = 35 solve by elimination

method.

o View Text Solution

56. Solve for x and y: 8z — 3y = dzy, 6x — by = — 2zy by the

method of elimination.

o View Text Solution



https://dl.doubtnut.com/l/_6qOTzyzeSMEs
https://dl.doubtnut.com/l/_2Edbds4UvRqX
https://dl.doubtnut.com/l/_NtHIPbzG20Qg
https://dl.doubtnut.com/l/_IeKJ7xxOrQ9S
https://dl.doubtnut.com/l/_oKR8k1BTlxfv

57. Solve 3z — 4y = 10 and 4z + 3y = 5 by the method of cross

multiplication.

o View Text Solution

58. Solve by cross multiplication method

3z +5y =21, —Tx —6y= —49

° View Text Solution

59. Check whether the following system of equation is consistent or
inconsistent and say how many solutions we can have if it is consistent

2 —4dy="T,2—-3y= —2

o View Text Solution



https://dl.doubtnut.com/l/_oKR8k1BTlxfv
https://dl.doubtnut.com/l/_HE0cAQvfWbl0
https://dl.doubtnut.com/l/_D8rIwy2IPDx0

60. Check whether the following system of equation is consistent or
inconsistent and say how many solutions we can have if it is consistent

dr +y=3,8+2y==6

o View Text Solution

61. Check whether the following system of equation is consistent or
inconsistent and say how many solutions we can have if it is consistent

dr +7=2y,2x +9 =y

o View Text Solution

62. Check the value of k for which the given system of equations

kx + 2y = 3, 2z — 3y = 1 has a unique solution.

° View Text Solution



https://dl.doubtnut.com/l/_PBMkMFsEcL6Q
https://dl.doubtnut.com/l/_Voeo3IuFjpwS
https://dl.doubtnut.com/l/_twcCzzqS5y5C

63. Find the value of k, for the following system of equation has infi
nitely many solutions.

2c —3y="7,(k+2)z— (2k+ 1)y =32k — 1)

o View Text Solution

64. Find the value of k for which the system of linear equations

8 + 5y = 9, kx + 10y = 15 has no solution

° View Text Solution

1. Which of the following expressions are polynomials. If not give

reason:

1
—2+3ZB—4
xXr

| ° View Text Solution


https://dl.doubtnut.com/l/_Zz1biHMAqown
https://dl.doubtnut.com/l/_wKbpNidsA7lp
https://dl.doubtnut.com/l/_CJCCdJQdUk6B

2. Which of the following expressions are polynomials. If not give

reason:

z(xz — 1)

o View Text Solution

3. Which of the following expressions are polynomials. If not give

reason:

%(:c+5)

o View Text Solution

4. Which of the following expressions are polynomials. If not give

reason:

S
$_2

+7
z—1

| o View Text Solution


https://dl.doubtnut.com/l/_CJCCdJQdUk6B
https://dl.doubtnut.com/l/_X6NtKPYFo0xx
https://dl.doubtnut.com/l/_Wlan5tEkrIyh
https://dl.doubtnut.com/l/_nRHdGMskDemt

5. Which of the following expressions are polynomials. If not give

reason:

VBx® + 3z 4+ /2

o View Text Solution

6. Which of the following expressions are polynomials. If not give

reason:

m? — /m + Tm — 10

o View Text Solution

7. Write the coefficient of 2> and x in each of the following
polynomials.

4+22 3
5$—CU

.Y



https://dl.doubtnut.com/l/_nRHdGMskDemt
https://dl.doubtnut.com/l/_rK3PgGMSzcnb
https://dl.doubtnut.com/l/_LkS9eAV9KEje
https://dl.doubtnut.com/l/_tpJ1vcdKqsqF

| ' VIEW Iext Solution )|

8. Write the coefficient of #? and x in each of the following
polynomials.

6—2:1324—3:1:3—\/7:3

o View Text Solution

9. Write the coefficient of z? and x in each of the following
polynomials.

7r:1:2—:13+2

o View Text Solution

10. Write the coefficient of z®> and x in each of the following

polynomials.

V3z? + 2z + 0.5

| & o |


https://dl.doubtnut.com/l/_tpJ1vcdKqsqF
https://dl.doubtnut.com/l/_pNSeXOlJCWre
https://dl.doubtnut.com/l/_MIBBrtyegx6g
https://dl.doubtnut.com/l/_741w0ZHNwpUe

[ ¥ View Text Solution ]

11. Write the coefficient of z? and x in each of the following
polynomials.

wz—;w—l—S

° View Text Solution

12. Find the degree of the following polynomials.

1— 2y + 4

° View Text Solution

13. Find the degree of the following polynomials.

x3 — z* + 626
2

Z

° View Text Solution



https://dl.doubtnut.com/l/_741w0ZHNwpUe
https://dl.doubtnut.com/l/_PL78Wdf2RgWj
https://dl.doubtnut.com/l/_S9ya1YEOzJyQ
https://dl.doubtnut.com/l/_UqOfzSI2UUR7
https://dl.doubtnut.com/l/_YsDxIc7F0AeY

14. Find the degree of the following polynomials.

z3 (332 + x)

° View Text Solution

15. Find the degree of the following polynomials.

3z% + 922 + 2725

° View Text Solution

16. Find the degree of the following polynomials.

8p? 202
2Bt -

/3T

o View Text Solution

17. Rewrite the following polynomial in standard form

z — 9+ /T2 + 622


https://dl.doubtnut.com/l/_YsDxIc7F0AeY
https://dl.doubtnut.com/l/_b0Rj4AGpfFnY
https://dl.doubtnut.com/l/_4iHM0TZeGAAO
https://dl.doubtnut.com/l/_87txiVZy0CI5

° View Text Solution

18. Rewrite the following polynomial in standard form

V2% — ;:f + ¢ — 523

o View Text Solution

19. Rewrite the following polynomial in standard form

6
7x3—3x2+4m—1

o View Text Solution

20. Rewrite the following polynomial in standard form

7
v’ + /Byt — 11 — §y+9y4

o View Text Solution



https://dl.doubtnut.com/l/_87txiVZy0CI5
https://dl.doubtnut.com/l/_PZpclYO9iMUG
https://dl.doubtnut.com/l/_hnOeXXj7VNNR
https://dl.doubtnut.com/l/_wLd5dQBgiPK4
https://dl.doubtnut.com/l/_lMirqw5nBTSo

21. Add the following polynomials and find the degree of the resultant
polynomial.

p(z) = 6x> — Tz +2 ¢(z) = 62> — Tz + 15

o View Text Solution

22. Add the following polynomials and find the degree of the resultant
polynomial.

h(z) =Tz — 6z +1 f(x) = T2*> + 17z — 9

o View Text Solution

23. Add the following polynomials and find the degree of the resultant
polynomial.

f(z) = 162* — 52> +9 g(z) = — 62> + Tz — 15

o View Text Solution



https://dl.doubtnut.com/l/_lMirqw5nBTSo
https://dl.doubtnut.com/l/_qGqHkc4gnar6
https://dl.doubtnut.com/l/_2DQcUgM3hJCB
https://dl.doubtnut.com/l/_ghXF4uBQ9pou

24. Subtract the second polynomial from the first polynomial and find
the degree of the resultant polynomial.

p(z) =T2> +6z -1 gq(z) =6z —9

o View Text Solution

25. Subtract the second polynomial from the first polynomial and find

the degree of the resultant polynomial.

fly) =6y —Ty+2 g(y) =Ty+y°

° View Text Solution

26. Subtract the second polynomial from the first polynomial and find
the degree of the resultant polynomial.

h(z) =2° —62' + 2 f(2) =622+ 102 -7

° View Text Solution



https://dl.doubtnut.com/l/_ghXF4uBQ9pou
https://dl.doubtnut.com/l/_9STagOouRdga
https://dl.doubtnut.com/l/_9dqYgknx69n2
https://dl.doubtnut.com/l/_3xTZYOgRvle9

27. What should be added to 2z®+62% —5z+8 to get

3z% — 222 + 62 + 1572

o View Text Solution

28. What must be subtracted from 2z* 4 4z — 3z + 7 to get

322 — 22+ 2 +17?

° View Text Solution

29. Multiply the following polynomials and find the degree of the
resultant polynomial:

p(z) =z -9 g(z) = 62>+ Tz — 2

o View Text Solution



https://dl.doubtnut.com/l/_3xTZYOgRvle9
https://dl.doubtnut.com/l/_G31Zy6eYmZBB
https://dl.doubtnut.com/l/_CP1OOhHxM9Mb

30. Multiply the following polynomials and find the degree of the
resultant polynomial:

flz) =Tz +2 g(xz) =152z — 9

o View Text Solution

31. Multiply the following polynomials and find the degree of the
resultant polynomial:

h(z) =6z> — Tz +1 f(z) =5z —7

o View Text Solution

32. The cost of a chocolate is Rs. (x + y) and Amir bought (x + vy)
chocolates. Find the total amount paid by him in terms of x and y. If x

=10, y =5 find the amount paid by him.

o View Text Solution



https://dl.doubtnut.com/l/_6dtGmc2sgffE
https://dl.doubtnut.com/l/_y01FVHm5ZNQz
https://dl.doubtnut.com/l/_8WJHAKU2upaY

33. The length of a rectangle is (3x+2) units and it’s breadth is (3x-2)

units. Find its area in terms of x. What will be the area if x = 20 units.

o View Text Solution

34.p(x) his a polynomial of degree 1 and q(x) is a polynomial of degree

2. What kind of the polynomial p(z) x g(x) is ?

o View Text Solution

1. Find the value of the polynomial f(y) = 6y — 3y* + 3 at

y=1

o View Text Solution



https://dl.doubtnut.com/l/_zC5ZeQ7EVtp7
https://dl.doubtnut.com/l/_iGOpW1ieAod2
https://dl.doubtnut.com/l/_HH2BfpYMUCgc
https://dl.doubtnut.com/l/_BQwfknHNedQw

2. Find the value of the polynomial f(y) = 6y — 3y* + 3 at

y= -1

o View Text Solution

3. Find the value of the polynomial f(y) = 6y — 3y* + 3 at

y=0

o View Text Solution

4.if p(z) = z* — 2¢/2z + 1, find p(2v2).

° View Text Solution

5. Find the zeros of the polynomial in each of the following :

p(z) =z —3

° View Text Solution



https://dl.doubtnut.com/l/_BQwfknHNedQw
https://dl.doubtnut.com/l/_PTp10bFI683p
https://dl.doubtnut.com/l/_aLlEx9x1NByR
https://dl.doubtnut.com/l/_uAKCnwz5lojJ

6. Find the zeros of the polynomial in each of the following :

p(z) =2 +5

o View Text Solution

7.Find the zeros of the polynomial in each of the following :

q(y) =2y —3

o View Text Solution

8. Find the zeros of the polynomial in each of the following :

h(z) = ax +b,a #0,a,b € R

o View Text Solution



https://dl.doubtnut.com/l/_uAKCnwz5lojJ
https://dl.doubtnut.com/l/_mRgbIPwzYHQF
https://dl.doubtnut.com/l/_QmrPABVUMFmM
https://dl.doubtnut.com/l/_fWqz80C2AYC0

9. Find the roots of the polynomial equations .

5¢ —6 =10

o View Text Solution

10. Find the roots of the polynomial equations .

x+3=0

o View Text Solution

11. Find the roots of the polynomial equations .

102 4+9=0

o View Text Solution

12. Find the roots of the polynomial equations .

9r —4 =0


https://dl.doubtnut.com/l/_ImwuN1ylBmWc
https://dl.doubtnut.com/l/_aRY8xFCYb5tM
https://dl.doubtnut.com/l/_b6zOE58HI6zR
https://dl.doubtnut.com/l/_jhxtUUvxDJ9m

° View Text Solution

13. Find the number of zeros of the following polynomials represented

by their graphs.

o View Text Solution



https://dl.doubtnut.com/l/_jhxtUUvxDJ9m
https://dl.doubtnut.com/l/_h5RTtKG5OdIn

14.Find the number of zeros of the following polynomials represented

by their graphs.

o View Text Solution

15. Find the number of zeros of the following polynomials represented

by their graphs.


https://dl.doubtnut.com/l/_ieAzhiaQ4EIY
https://dl.doubtnut.com/l/_iLEobnTJ0lN3

o View Text Solution

16. Find the number of zeros of the following polynomials represented

by their graphs.


https://dl.doubtnut.com/l/_iLEobnTJ0lN3
https://dl.doubtnut.com/l/_2gUhRZP9xG0V

o View Text Solution

1. Check whether p(x) is a multiple of g(x) or not

p(z) = x* — 5x® + 42 — 3, g(z) =z — 2

o View Text Solution



https://dl.doubtnut.com/l/_2gUhRZP9xG0V
https://dl.doubtnut.com/l/_PAXoZ2NT1J4F

2. By remainder theorem, find the remainder when, p(x) is divided by
g(x) where,

p(z) = 4a® — 122% + 142 — 3, g(z) =2z — 1

° View Text Solution

3. By remainder theorem, find the remainder when, p(x) is divided by
g(x) where,

p(z) = z* — 32> + 4z + 50, g(z) = = — 3

° View Text Solution

4.Find the remainder when 3z® — 42% 4 7z — 5 s divided by (z + 3)

o View Text Solution



https://dl.doubtnut.com/l/_PAXoZ2NT1J4F
https://dl.doubtnut.com/l/_ssRmX8Yj9BoX
https://dl.doubtnut.com/l/_KMo4wqCPIGCb
https://dl.doubtnut.com/l/_m9lH9qcmmmjB
https://dl.doubtnut.com/l/_Rp9pArDcpLRa

5.What is the remainder when z2°'® 4 2018 is divided byzr —1

o View Text Solution

6. For what value of k is the polynomial p(z) = 2z* — kz? + 3z + 10

exactly divisible by (z— 2)

° View Text Solution

7. If two polynomials 2z + az?® + 4z — 12 and 2® + 2°> — 2z + a
leave the same remainder when divided by (z—3), find the value of a

and also find the remainder.

o View Text Solution

8. Determine whether (z — 1) is a factor of the following polynomials:

23 + 522 — 10z + 4

[ e~ |


https://dl.doubtnut.com/l/_Rp9pArDcpLRa
https://dl.doubtnut.com/l/_pP8QcAD4FHY2
https://dl.doubtnut.com/l/_LlAe0u0Di9Vq
https://dl.doubtnut.com/l/_yf68RwkzJyU3

| D View Text Solution l

9. Determine whether (z — 1) is a factor of the following polynomials:

z* + 522 — b5z + 1

° View Text Solution

10. Using factor theorem, show that (z — 5)is a factor of the

polynomial 2z® — 522 — 28z + 15

° View Text Solution

1. Determine the value of m , if (z+3) is a factor of

z® — 322 — mx + 24.

o View Text Solution



https://dl.doubtnut.com/l/_yf68RwkzJyU3
https://dl.doubtnut.com/l/_F9q0RKnMf8Ul
https://dl.doubtnut.com/l/_CgyRjz5VaOOB
https://dl.doubtnut.com/l/_eZGQVyrEcSnB

12. If (z — 1) divides the polynomial kz® — 22® + 25z — 26 without

remainder, then find the value of k.

o View Text Solution

13. Check if (z + 2) and (z — 4) are the sides of a rectangle whose

areais z2 — 2x — 8 by using factor theorem.

o View Text Solution

1. Expand the following:

(z + 2y + 32)°

o View Text Solution



https://dl.doubtnut.com/l/_3L2VZO3KPHYE
https://dl.doubtnut.com/l/_1yQIixNGm4Tt
https://dl.doubtnut.com/l/_bhpzbSck1MEE
https://dl.doubtnut.com/l/_ehxH89ax5uD7

2. Expand the following:

(—p+2q+3r)°

° View Text Solution

3. Expand the following:

(2p+3)(2p —4)(2p - 5)

o View Text Solution

4. Expand the following:

(3a+1)(3a — 2)(3a + 4)

° View Text Solution

5. Using algebraic identity, find the coefficients of 2, z and constant

term without actual expansion


https://dl.doubtnut.com/l/_ehxH89ax5uD7
https://dl.doubtnut.com/l/_ZhJPGBPvBR61
https://dl.doubtnut.com/l/_LioZyvTE7AsQ
https://dl.doubtnut.com/l/_crN0I967s0To

(z +5)(z + 6)(x + 8)

° View Text Solution

6. Using algebraic identity, find the coefficients of z, z and constant
term without actual expansion

(2z + 3)(2z — 5)(2z — 6)

o View Text Solution

7.0 (x 4+ a)(z + b)(z + ¢) = 2 4 142? + 59z + 70, find the value of

at+b+ec

o View Text Solution

8. If (x4 a)(z +b)(z + ¢) = 2° + 142> + 59z + 70, find the value

of


https://dl.doubtnut.com/l/_crN0I967s0To
https://dl.doubtnut.com/l/_BsXWjytPINM5
https://dl.doubtnut.com/l/_eTLmkSEBeCW7
https://dl.doubtnut.com/l/_1bbUeWOlaChA

° View Text Solution

9.If (z 4 a)(z + b)(z + ¢) = 2° + 142> + 59z + 70, find the value
of

a’> + b+

o View Text Solution

10. If (z + a)(z + b)(z + ¢) = 2* + 142? 4 59z + 70, find the value

of

° View Text Solution

1. Expand: (3a — 4b)®

[ ]


https://dl.doubtnut.com/l/_1bbUeWOlaChA
https://dl.doubtnut.com/l/_Itzs0Rydz0XO
https://dl.doubtnut.com/l/_UI5KTjZK0qTw
https://dl.doubtnut.com/l/_msRqVt0ryGhr

[ & View Text Solution

1\3
12. Expand: (x + Z)

° View Text Solution

13. Evaluate the following by using identities:

983

° View Text Solution

14. Evaluate the following by using identities:

10013

° View Text Solution



https://dl.doubtnut.com/l/_msRqVt0ryGhr
https://dl.doubtnut.com/l/_fQmyl2BiHads
https://dl.doubtnut.com/l/_vNcyL7uVpGer
https://dl.doubtnut.com/l/_6ybnJdnIJ8If

15.1f (z +y+ 2) =9 and (xy + yz + zz) = 26, then find the value

of 22 + y? + 22

° View Text Solution

16. Find 27a® + 64b°,1f 3a + 4b = 10 and ab = 2.

° View Text Solution

17.Find 23 — ¢®,ifz — y = 5 and zy = 14.

° View Text Solution

1 1
18.1f a + P 6, then find the value of a® + —
a

° View Text Solution



https://dl.doubtnut.com/l/_BJ1rVuGlQHLt
https://dl.doubtnut.com/l/_ZSvnhk6ZGZP5
https://dl.doubtnut.com/l/_nc8iQOqMC85z
https://dl.doubtnut.com/l/_I37dH6IloB40
https://dl.doubtnut.com/l/_sFAkiWiYRkhx

1 1 1
19.1f 22 + — = 23, then find the value of z + — and z° + —
$2 T $3

° View Text Solution

1 1
20.1If (y — —> = 27, then find the value of 3 — —.
Yy y?

o View Text Solution

21.Simplify: (2a + 3b + 4c) (4a® + 9b° + 16¢° — 6ab — 12bc — 8ca)

o View Text Solution

22.simplify: (z — 2y + 3z) (2 + 4y® + 92° + 22y + 6yz — 3z2)

o View Text Solution



https://dl.doubtnut.com/l/_sFAkiWiYRkhx
https://dl.doubtnut.com/l/_lmDKU0qGpf8l
https://dl.doubtnut.com/l/_ThLRPQj8CX7Y
https://dl.doubtnut.com/l/_Irw2oMotJtNR

23.By using identity evaluate the following:

7 -10° + 33

° View Text Solution

1 2
24. By using identity evaluate the following: 1 + i ?7

° View Text Solution

25.1f 2z — 3y — 4z = 0, then find 82> — 27y® — 642°

° View Text Solution



https://dl.doubtnut.com/l/_xqmHmdjRB1z5
https://dl.doubtnut.com/l/_0MPo6bIk09Gy
https://dl.doubtnut.com/l/_gEMaEz8rHd8O

1. Factorise the following expressions:

2a% + 4a’b + 8a’c

° View Text Solution

2. Factorise the following expressions:

ab — ac — mb + mc

o View Text Solution

3. Factorise the following:

a:2—|—4a:+4

o View Text Solution

4. Factorise the following:

3a® — 24ab + 48b°


https://dl.doubtnut.com/l/_s90pjIMk6hDJ
https://dl.doubtnut.com/l/_8UibbfGPlnpg
https://dl.doubtnut.com/l/_Hc7hhXgyh8kd
https://dl.doubtnut.com/l/_V3hSAiuZwxKQ

° View Text Solution

5. Factorise the following:

z° — 16z

° View Text Solution

6. Factorise the following:
2 1
m°+ — — 23
m2

o View Text Solution

7. Factorise the following:

6 — 21622

o View Text Solution



https://dl.doubtnut.com/l/_V3hSAiuZwxKQ
https://dl.doubtnut.com/l/_dNR0Oxm4bRiV
https://dl.doubtnut.com/l/_ENSkwSdxIPEO
https://dl.doubtnut.com/l/_RfNdqQzMJj6f
https://dl.doubtnut.com/l/_jdpCY72TppeF

8. Factorise the following:
1

0,2 + —2 — 18
a

o View Text Solution

9. Factorise the following:

4z% + 9y® + 252% + 122y + 30yz + 20z

o View Text Solution

10. Factorise the following:

2522 + 4y + 92° — 20zy + 12yz — 30zz

° View Text Solution

11. Factorise the following:

8z°% 4 125¢°

[ o


https://dl.doubtnut.com/l/_jdpCY72TppeF
https://dl.doubtnut.com/l/_OYzkPtQzHBjW
https://dl.doubtnut.com/l/_hOuze3eS2IAA
https://dl.doubtnut.com/l/_HGBIt543Sb0N

| J View Text Solution

12. Factorise the following:

27z — 8y°

° View Text Solution

13. Factorise the following:

a’ — 64

° View Text Solution

14. Factorise the following:

z3 + 8ylbry — 1

o View Text Solution



https://dl.doubtnut.com/l/_HGBIt543Sb0N
https://dl.doubtnut.com/l/_b5AHdjJzMPrz
https://dl.doubtnut.com/l/_uVMtbVlgykLk
https://dl.doubtnut.com/l/_fG6P8xMQqlIn

15. Factorise the following:

2 — 8m3 — 27n® — 18lmn

o View Text Solution

1. Factorise the following:

2 + 10z + 24

o View Text Solution

2. Factorise the following:

22+ 4z — 12

o View Text Solution



https://dl.doubtnut.com/l/_UyOeQ64OuYOt
https://dl.doubtnut.com/l/_GmigjWkU1Xk8
https://dl.doubtnut.com/l/_szEW3T6EmHvS
https://dl.doubtnut.com/l/_o9EmShAoxobE

3. Factorise the following:

p? — 6p — 16

o View Text Solution

4. Factorise the following:

24+ 72— 17t

o View Text Solution

5. Factorise the following:

y? — 16y — 80

° View Text Solution

6. Factorise the following:

a® + 10a — 600

[


https://dl.doubtnut.com/l/_o9EmShAoxobE
https://dl.doubtnut.com/l/_TFnaU85wqS8m
https://dl.doubtnut.com/l/_spoAUlwrUMlJ
https://dl.doubtnut.com/l/_b5aMMwZJIvcV

| &J View Text Solution

7. Factorise the following:

2a% + 9a + 10

° View Text Solution

8. Factorise the following:

5z% — 29zy — 42y°

° View Text Solution

9. Factorise the following:

9 — 18z + 82

° View Text Solution



https://dl.doubtnut.com/l/_b5aMMwZJIvcV
https://dl.doubtnut.com/l/_KjnH82hwUJ39
https://dl.doubtnut.com/l/_7BNEv3yI2stL
https://dl.doubtnut.com/l/_P7fUHR66bcL2

10. Factorise the following:

622 + 162y + 8y>

o View Text Solution

11. Factorise the following:

1222 + 362%y + 27y x>

o View Text Solution

12. Factorise the following:

(a+b)* +9(a+0b) +18

o View Text Solution

13. Factorise the following:

(p—q)° —6(p—q) — 16


https://dl.doubtnut.com/l/_JRhzeoOoCwen
https://dl.doubtnut.com/l/_IEOUYH71Vv8c
https://dl.doubtnut.com/l/_MG3cgKbCPCf6
https://dl.doubtnut.com/l/_mDDNsfXAUOpv

o View Text Solution

14. Factorise the following:

m? + 2mn — 24n?

o View Text Solution

15. Factorise the following:

Vvba? + 2a — 3,/5

o View Text Solution

16. Factorise the following:

a* —3a® +2

o View Text Solution



https://dl.doubtnut.com/l/_mDDNsfXAUOpv
https://dl.doubtnut.com/l/_26t0kfL6nOkQ
https://dl.doubtnut.com/l/_2uT1N9EwdzPL
https://dl.doubtnut.com/l/_YWF5ZBWFTTLq
https://dl.doubtnut.com/l/_OvKyCG6YEw9w

17. Factorise the following:

8m? — 2m?n — 15mn?

o View Text Solution

18. Factorise the following:
1 1 2

z2 g2 5’3_3/

° View Text Solution

1. Find the quotient and remainder of the following

(42® + 62 — 23z + 18) + (z + 3)

° View Text Solution



https://dl.doubtnut.com/l/_OvKyCG6YEw9w
https://dl.doubtnut.com/l/_6VkoCMBsDHnI
https://dl.doubtnut.com/l/_XhoBGStNxTzs

2.Find the quotient and remainder of the following

(8y* — 16y* + 16y — 15) + (2y — 1)

o View Text Solution

3. Find the quotient and remainder of the following

(8z° — 1) + (2z — 1)

o View Text Solution

4.Find the quotient and remainder of the following

(— 182z + 142® + 242° + 18) = (32 + 4)

o View Text Solution

5. The area of a rectangle is > + 7z + 12. If its breadth is (z + 3),

then find its length


https://dl.doubtnut.com/l/_UWSx6voF99a6
https://dl.doubtnut.com/l/_kK0WQDNPoS0q
https://dl.doubtnut.com/l/_IeXuuA2PCNUw
https://dl.doubtnut.com/l/_gE5l0LHmgSbf

° View Text Solution

6. The base of a parallelogram is (5 + 4). Find its height, if the area is

2522 — 16

o View Text Solution

7. The sum of (x+5) observations is (:c3 + 125). Find the mean of the

observations.

o View Text Solution

8. Find the quotient and remainder for the following using synthetic
division:

(2 + 2% — Tz — 3) + (z — 3)

° View Text Solution



https://dl.doubtnut.com/l/_gE5l0LHmgSbf
https://dl.doubtnut.com/l/_ZInMUaDLj3c3
https://dl.doubtnut.com/l/_HHJHfBRJUBnW
https://dl.doubtnut.com/l/_MycMyFmXJNYp

9. Find the quotient and remainder for the following using synthetic
division:

(2 + 22> —z — 4) + (z + 2)

o View Text Solution

10. Find the quotient and remainder for the following using synthetic
division:

(3z® — 22> + Tz — 5) = (z + 3)

o View Text Solution

11. Find the quotient and remainder for the following using synthetic
division:

(8z* — 22° + 6z +5) = (42 + 1)

o View Text Solution



https://dl.doubtnut.com/l/_xCGXJquzRDOw
https://dl.doubtnut.com/l/_JCkkyR9c7l67
https://dl.doubtnut.com/l/_d9UGiqaMgoPI

12. If the quotient obtained on dividing (83@4 — 22% + 6z — 7) by
(2z + 1) is (4:1:3 + pz? — gz —|—3). , then find p, q and also the

remainder.

o View Text Solution

13. If the quotient obtained on dividing 32> + 11z® + 34z + 106 by

z — 3is 322 + azx + b, then find a, b and also the remainder.

° View Text Solution

1. Factorise each of the following polynomials using synthetic division:

23 — 322 — 10z + 24

° View Text Solution



https://dl.doubtnut.com/l/_Dadg5IxHSKzR
https://dl.doubtnut.com/l/_ZzADN69av287
https://dl.doubtnut.com/l/_I4pprE3qqeGP

2. Factorise each of the following polynomials using synthetic division:

22% — 322 — 3z + 2

o View Text Solution

3. Factorise each of the following polynomials using synthetic division:

— Tz + 3+ 4z°

o View Text Solution

4. Factorise each of the following polynomials using synthetic division:

23+ 22 — 14z — 24

o View Text Solution

5. Factorise each of the following polynomials using synthetic division:

2 — Tz + 6


https://dl.doubtnut.com/l/_jXWrUsCbrSzL
https://dl.doubtnut.com/l/_sTJxPAvLl7P6
https://dl.doubtnut.com/l/_0Ad5k73FIxJA
https://dl.doubtnut.com/l/_q85Z2xB6zR41

° View Text Solution

6. Factorise each of the following polynomials using synthetic division:

22— 1022 — 2z + 10

o View Text Solution

1. Find the GCD for the following:

o, p', p’

o View Text Solution

2.Find the GCD for the following:

3 .3 3
4z Y, 2

| o \ W SR T D R


https://dl.doubtnut.com/l/_q85Z2xB6zR41
https://dl.doubtnut.com/l/_24KF1L0kHktj
https://dl.doubtnut.com/l/_Ybi1UL0utWDE
https://dl.doubtnut.com/l/_WbTuztrGnpUi

L T VICVW ICAL 001UVl

3. Find the GCD for the following:

9a2b*c?, 15a3b?ct

o View Text Solution

4.Find the GCD for the following:

642, 2402°

o View Text Solution

5. Find the GCD for the following:

ab’c, a?b?, a®bc?

° View Text Solution



https://dl.doubtnut.com/l/_WbTuztrGnpUi
https://dl.doubtnut.com/l/_OuIVEyWBfCss
https://dl.doubtnut.com/l/_V7reynAFGRwG
https://dl.doubtnut.com/l/_WbX4dysDFlvV

6. Find the GCD for the following:

35:c5y3z4, 49z%yz3, 14xy?2?

o View Text Solution

7.Find the GCD for the following:

25ab%c, 100abe, 125ab

o View Text Solution

8. Find the GCD for the following:

3abc, 5xyz, Tpgr

o View Text Solution

9. Find the GCD for the following:

(2z + 5), (5 + 2)


https://dl.doubtnut.com/l/_we3EhCtrz8ga
https://dl.doubtnut.com/l/_ZwtaYzsanaPH
https://dl.doubtnut.com/l/_uRKFDde0Z5OM
https://dl.doubtnut.com/l/_l9jUyvSrg5xc

o View Text Solution

10. Find the GCD for the following:

m+1 m+2 _m—+3

o View Text Solution

11. Find the GCD for the following:

20 + a, 4a® — 1

o View Text Solution

12. Find the GCD for the following:

3a?, 5b%, 7c?

o View Text Solution



https://dl.doubtnut.com/l/_l9jUyvSrg5xc
https://dl.doubtnut.com/l/_rzPrIOl7Rien
https://dl.doubtnut.com/l/_6f61AYvRbaWC
https://dl.doubtnut.com/l/_QqyVeDfex3Oj
https://dl.doubtnut.com/l/_49KXDZJq6w0D

13. Find the GCD for the following:

x4—1,x2—1

o View Text Solution

14. Find the GCD for the following:

a® — 9a2?, (a — 3z)°

° View Text Solution

1. Draw the graph for the following

y=2zx

° View Text Solution



https://dl.doubtnut.com/l/_49KXDZJq6w0D
https://dl.doubtnut.com/l/_AtdhkEAPSv24
https://dl.doubtnut.com/l/_v3nvt5KmU6O4

2. Draw the graph for the following

y=4z — 1

° View Text Solution

3. Draw the graph for the following

y—Ex—I—

o View Text Solution

4.Draw the graph for the following

3x +2y=14

o View Text Solution



https://dl.doubtnut.com/l/_l0WOOQr1cBQ0
https://dl.doubtnut.com/l/_o8dNJWNnrT37
https://dl.doubtnut.com/l/_pKlW32aWscna

5. Solve graphically

r+y="7Txz—y=3

o View Text Solution

6. Solve graphically

3r+2y=4,92+6y—12=20

o View Text Solution

7.Solve graphically

< 12 Y
g Ty~ byty=?

o View Text Solution



https://dl.doubtnut.com/l/_aUnd5ZDfX6Ce
https://dl.doubtnut.com/l/_aFvGXqPtj6h3
https://dl.doubtnut.com/l/_Aa4qRWMoCCQr
https://dl.doubtnut.com/l/_6SXzHAB5zB2h

1. Solve, using the method of substitution

2z —3y="7,5%¢c+y=9

° View Text Solution

2.Solve, using the method of substitution

1.5z + 0.1y = 6.2, 3z — 0.4y = 11.2

o View Text Solution

3. Solve, using the method of substitution

10% ofz +20% ofy = 24,3z — y = 20

° View Text Solution

4. Solve, using the method of substitution

V2 —\3y=1,/3z — /8y =10

[ o


https://dl.doubtnut.com/l/_6SXzHAB5zB2h
https://dl.doubtnut.com/l/_e6l60kKkDA18
https://dl.doubtnut.com/l/_aFBALl9IQJoQ
https://dl.doubtnut.com/l/_lnbw7YWVFobY

| &J View Text Solution

5.Raman’s age is three times the sum of the ages of his two sons. After
5 years his age will be twice the sum of the ages of his two sons. Find

the age of Raman.

o View Text Solution

6. The middle digit of a number between 100 and 1000 is zero and the
sum of the other digit is 13. If the digits are reversed, the number so

formed exceeds the original number by 495. Find the number.

o View Text Solution

Exercise 3 12



https://dl.doubtnut.com/l/_lnbw7YWVFobY
https://dl.doubtnut.com/l/_79AIxiJSBXpR
https://dl.doubtnut.com/l/_jwn4MzzSnKuU

1. Solve by the method of elimination

2 —y=3,3x+y="7

o View Text Solution

2. Solve by the method of elimination

T —yYy=293x+ 2y =25

o View Text Solution

3. Solve by the method of elimination

T Y 2LV
Gtr=gteg=1

o View Text Solution

4. Solve by the method of elimination

3(2z + y) = Tzy, 3(x + 3y) = llzy


https://dl.doubtnut.com/l/_U5W4j01SMZGM
https://dl.doubtnut.com/l/_FsosxDRxcDsY
https://dl.doubtnut.com/l/_IUoNbVHRInou
https://dl.doubtnut.com/l/_BTnBwJSaJfeT

o View Text Solution

5. Solve by the method of elimination

4 3
— +5y="7,— +4y=5

o View Text Solution

6. Solve by the method of elimination

13z + 11y = 70, 11z + 13y = 74

o View Text Solution

7.The monthly income of A and B are in the ratio 3:4 and their monthly
expenditures are in the ratio 5:7. If each saves Rs 5,000 per month, find

the monthly income of each.

° View Text Solution



https://dl.doubtnut.com/l/_BTnBwJSaJfeT
https://dl.doubtnut.com/l/_ZJkezsy55Pvd
https://dl.doubtnut.com/l/_PMrzSkMMQX9k
https://dl.doubtnut.com/l/_0cuqvM4PgcQP

8. Five years ago, a man was seven times as old as his son, while five
year hence, the man will be four times as old as his son. Find their

present age.

o View Text Solution

Exercise 3 13

1. Solve by cross-multiplication method

8 —3y=12,5¢c =2y + 7

° View Text Solution

2. Solve by cross-multiplication method

6z + 7y — 11 = 0,5z + 2y = 13

° View Text Solution



https://dl.doubtnut.com/l/_L2wUPaj9yPdO
https://dl.doubtnut.com/l/_wrXxaw9OxEA6
https://dl.doubtnut.com/l/_sNtrEPmkrAph

3. Solve by cross-multiplication method
2 3 3 1
—+—=—=5—-——=—4+9=0

z Yy z Yy

o View Text Solution

4. Akshaya has 2 rupee coins and 5 rupee coins in her purse. If in all
she has 80 coins totalling Rs220, how many coins of each kind does

she have.

° View Text Solution

5.1t takes 24 hours to fill a swimming pool using two pipes. If the pipe
of larger diameter is used for 8 hours and the pipe of the smaller
diameter is used for 18 hours. Only half of the pool is fi lled. How long

would each pipe take to fill the swimming pool.

o View Text Solution



https://dl.doubtnut.com/l/_NweqOo01LYBH
https://dl.doubtnut.com/l/_VIEiWcs9yyE4
https://dl.doubtnut.com/l/_7UiUBOKjBBEL

1. The sum of a two digit number and the number formed by
interchanging the digits is 110. If 10 is subtracted from the first
number, the new number is 4 more than 5 times the sums of the digits

of the first number. Find the first number.

o View Text Solution

2. The sum of the numerator and denominator of a fraction is 12. If the
1
denominator is increased by 3, the fraction becomes 7 Find the

fraction.

o View Text Solution

3. ABCD is a cyclic quadrilateral such that

/A = (4y+20°, /B = (3y—5)°,2ZC = (4z)° and 4D = (Tx +5)°


https://dl.doubtnut.com/l/_x6kMe9gNUoBp
https://dl.doubtnut.com/l/_WQo87i3LKEWq
https://dl.doubtnut.com/l/_kpndIqxTqa4L

. Find the four angles.

o View Text Solution

4. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper
gains Rs2000. But if he sells the T.V. at 10% gain and the fridge at 5%

loss, he gains Rs.1500 on the transaction. Find the actual price of the

T.V. and the fridge.

o View Text Solution

5.Two numbers are in the ratio 5: 6. If 8 is subtracted from each of the

numbers, the ratio becomes 4 : 5. Find the numbers.

o View Text Solution



https://dl.doubtnut.com/l/_kpndIqxTqa4L
https://dl.doubtnut.com/l/_XC5NtK4nYB0W
https://dl.doubtnut.com/l/_UfzDvSt3DHtU

6. 4 Indians and 4 Chinese can do a piece of work in 3 days. While 2
Indians and 5 Chinese can finish it in 4 days. How long would it take for

1Indian to do it? How long would it take for 1 Chinese to do it?

o View Text Solution

Exercise 3 15 Multiple Choice Questions

1If 23 + 62 + kz + 6 is exactly divisible by (z + 2), then k=?

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_jcKP5QcTDBHN
https://dl.doubtnut.com/l/_HNaISqoPCzj0

2.The root of the polynomial equation 2x + 3 = 0 is

Answer: C

° View Text Solution

3. The type of the polynomial 4 — 3z is

A. constant polynomial
B. linear polynomial

C. quadratic polynomial


https://dl.doubtnut.com/l/_HNaISqoPCzj0
https://dl.doubtnut.com/l/_bHB3qDzFmhZx
https://dl.doubtnut.com/l/_7TeCwVIjrxtm

D. cubic polynomial.

Answer: D

o View Text Solution

4.1f z°' + 51 is divided by z 4 1, then the remainder is

A.O
B. 21
C.49

D. 50

Answer: D

o View Text Solution

5.Th e zero of the polynomial 2z + 5 is


https://dl.doubtnut.com/l/_7TeCwVIjrxtm
https://dl.doubtnut.com/l/_REa9ze9WzrNJ
https://dl.doubtnut.com/l/_UhUYmn3sbnGU

Answer: B

° View Text Solution

6. The sum of the
p(z) =2* — 2% —2,q(z) = 2*> — 3z + 1

Azl —3z—1

B.z% + 222 — 1

C.xz® — 222 — 3z

D.a:3—2ac2—|—3w—1

polynomials


https://dl.doubtnut.com/l/_UhUYmn3sbnGU
https://dl.doubtnut.com/l/_w5XBfLAONLru

Answer: A

° View Text Solution

7. Degree of the polynomial (y3 = 2) (y3 + 1) is

A9
B.2
C.3

D.6

Answer: D

o View Text Solution

8. Let the polynomials be

(A) —13¢° + 4¢* + 12¢(B) (z* + 4) (2* + 9)


https://dl.doubtnut.com/l/_w5XBfLAONLru
https://dl.doubtnut.com/l/_9kcCvhLYOfDY
https://dl.doubtnut.com/l/_ScmgfS0QAXFu

)
(C)4¢° — ¢° +¢* (O) — =y + ¢ +¢°
Th en ascending order of their degree is
A. AB,D,C
B. AB,C,D
C.B,C,DA

D.BACD

Answer: D

o View Text Solution

9.1f p(a)=0then (x —a)isa____ of p(x)

A. divisor
B. quotient
C.remainder

D. factor


https://dl.doubtnut.com/l/_ScmgfS0QAXFu
https://dl.doubtnut.com/l/_hZn3PVOINtYU

Answer: D

° View Text Solution

10. Zeros of (2 — 3x) is

A3

B.2

| w w|

Answer: C

o View Text Solution

11. Which of the following has x — 1 as a factor?

A2rx —1


https://dl.doubtnut.com/l/_hZn3PVOINtYU
https://dl.doubtnut.com/l/_5UlhEsnK64je
https://dl.doubtnut.com/l/_QVXG2eqwDLXS

B.3x — 3

C.4x — 3
D.3x — 4
Answer: B

° View Text Solution

12.If z — 3 is a factor of p(x), then the remainder is

A3

C.p(3)

D.p( — 3)

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_QVXG2eqwDLXS
https://dl.doubtnut.com/l/_SmR99fi4DIDR

183.(z + y)(z° — zy + y°) is equal to

Answer: C

o View Text Solution

14.(a + b — ¢)?is equal to

A (a—b+c)’
B.(—a—b+c)

C.(a+b+c)?


https://dl.doubtnut.com/l/_SmR99fi4DIDR
https://dl.doubtnut.com/l/_m4tFyC3S1Obm
https://dl.doubtnut.com/l/_X3yTm8gOdm2A

D.(a —b—c)’

Answer: B

o View Text Solution

15. If (z +5) and (z — 3) are the factors of az® + bz + c, then

values of a, b and c are

A. 1,23
B.1,2,15
C.1,2 —15
D.1, — 2,15
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_X3yTm8gOdm2A
https://dl.doubtnut.com/l/_DAVSb6BHY6t7

16. Cubic polynomial may have maximum of linear factors

Al

B.2

C.3

D.4

Answer: C

o View Text Solution

17. Degree of the constant polynomial is

A3

B.2

C.1

D.O


https://dl.doubtnut.com/l/_gjtTiUrlD88J
https://dl.doubtnut.com/l/_MIyqDO9ZqjXP

Answer: D

° View Text Solution

18. Find the value of m from the equation 2z 4 3y = m. If its one

solutionisx=2andy = — 2.

A2

C.10

D.O

Answer: B

° View Text Solution

19. Which of the following is a linear equation


https://dl.doubtnut.com/l/_MIyqDO9ZqjXP
https://dl.doubtnut.com/l/_DCzvo9JpO300
https://dl.doubtnut.com/l/_tozwSNlsIWmR

C.3 +5—2
.3z =3

Dz’ —z =5

Answer: C

° View Text Solution

20. Which of the following is a solution of the equation 2z — y = 6

A. (2,4)

B. (4,2)

Answer: B

| e


https://dl.doubtnut.com/l/_tozwSNlsIWmR
https://dl.doubtnut.com/l/_jKbq6PEfebqQ

| & View Text Solution

21.1f (2,3) is a solution of linear equation 2x + 3y = k then, the value

ofkis

A.12

B.6

C.O0

D.13

Answer: D

o View Text Solution

22. Which condition does not satisfy the linear equation

ax +by+c=0

Aa#0,b=0


https://dl.doubtnut.com/l/_jKbq6PEfebqQ
https://dl.doubtnut.com/l/_JpGp0Op5hE3F
https://dl.doubtnut.com/l/_AIGia1DDLR9J

B.a=0,b#0

Ca=0,b=0,c#0

D.a #0,b# 0

Answer: C

° View Text Solution

23. Which of the following is not a linear equation in two variable

Aax +by+c=0
B.Ox +0y+c=0
COx+by+c=0

D.ax +0y+c=0

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_AIGia1DDLR9J
https://dl.doubtnut.com/l/_ZuvIVbCwNwMi

24. The value of k for which the pair of linear equations

4r 4 6y — 1 = 0 and 2z + ky — 7 = O represents parallel lines is

A k=3
B. k=2
C. k=4

D.k= —3

Answer: A

o View Text Solution

25. A pair of linear equations has no solution then the graphical

representation is


https://dl.doubtnut.com/l/_ZuvIVbCwNwMi
https://dl.doubtnut.com/l/_qIdnOHGJaHOC
https://dl.doubtnut.com/l/_NDejR3RLzruZ

X
P
e
s

° View Text Solution



https://dl.doubtnut.com/l/_NDejR3RLzruZ

a b . , : ,
il F# —L then the given pair of linear equation has
az 2

26. If

solution(s)

A. no solution

B. two solutions

C.unique

D. infinite

Answer: C

o View Text Solution

al bl C1
27. If —_— = — — where
ay b2 7 Co

a1z + biy+ c1 = 0 and a2z + bay + c2 = 0 then the given pair of

linear equation has  solution(s)

A. no solution


https://dl.doubtnut.com/l/_ngWRwEExZEr1
https://dl.doubtnut.com/l/_ofzVeJzuhWFE

B. two solutions

C.infinite

D. unique

Answer: A

° View Text Solution

28. GCD of any two prime numbers is

B.O

C.1

D.2

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_ofzVeJzuhWFE
https://dl.doubtnut.com/l/_pFqhYMrg9Gfm

29. The GCD of z* — y4 and z% — y2 is

A.:r4—y
B.ac2—y2

C.(z+y)?

D.(z +y)*

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_pFqhYMrg9Gfm
https://dl.doubtnut.com/l/_8YGmWJ2lVvv2

